MULTIPLE CHOICE: Non-Calculator
1. Suppose g(x) =2sinx—3cosx. Then g'(x) =?

2sin X+ 3cos X
2cosx —3sinx
2c0os X +3sin X
—2C0SX + 3sin X

moow>»

—2C0SX—3sinx

2. Let f(x)=2sinx. Then di(f’(x)):
X

2C0SX
2sinx
—2C0SX
—2sinX

moow2»

None of the above

3. Suppose V(t) =3t>cost. Then v'(t) =

A. —9t’sint
9t®sint
ot2 cost —3t3sint

ot2 cost + 3t3sint

mo o w

ot2 cost + 9t? sint

3
RETE AT
dx | tan x
3x*(3tan x + xsec’ x)
tan® x

9x?

sec’ x

3x*(3tan x + xsec’ x)
sec” x

3x(3tan x — xsec’ x)
sec’ x

3x?(3tan x — xsec” x)
tan® x

B.




